N = 0 &8 AFH Y & A AN
20149 & 20 & LBSH EX R X
2AM: EXNS XD
H: HMSAHH (ENESA )
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
E X=X 16,934,458 7,462,409 9,472,049
= 8,075,000
= 2,126,000
= 6,733,458
HHSHHU(FEXS X ) 117,794 127,992 A 10,198
ol 2| 62,728 57,511 5,217
Ol A4 H| 62,728 57,511 5,217
101 2124 1| 59,728 54,511 5,217
01 2 56,246 54,511 1,735
OA2RA2L4Y HHE(13H) 14,336
— 53 11,364 x 1 x10A| 2+ x12& 1,364
— 62 9,692 x*5H x10A| 2tx12& 5,816
73 8,754 x6H *10A| 2+ =128 6,303
- 92 7,1043 *1H *10A| 2t 12 853
Oxx2Z22LE 8,955& * 13 *30A| 2+ * 128 41,910
02 JIEt& E % 3,482 0 3,482
OFHIAFEH(1Y) 3,482
— Ao aeag (HuR)
7,252 *1H x10A| 2tx 123 871
— X2 E 7,252« 1H *30A| 2+ 128 2,611
203 ¥R =AY 3,000 3,000 0
04 ENSIHRF=AY| 3,000 3,000 0
OFNE2Y gRF&A 250,000& = 12& 3,000
Jl2& bl 55,066 70,481 N 15,415
Jl2&l 55,066 70,481 N 15,415
201 LEt2 Y| 33,306 34,731 N 1,425
01 AFR2t2l bl 31,922 33,347 N 1,425
Ogbt42H S HA A 18,592
OZ2&d SHHA A 13,330
02 3294l 1,384 1,384 0
OAIR 4 HetAH 2 | 1,384& %104 =100 1,384
202 04| 21,760 23,750 A 1,990
01 2L Y] 21,760 23,750 A 1,990
O=2WHuo bl 21,760
— B 15,280
— 22 6,480
IS X AE M35 1,046,307 303,765 742,542
Jleg X & 1,046,307 303,765 742,542
S0l 54 1,042,707 300, 165 742,542
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2AM: EXrs X
st

g g Edst

e JIgXH (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
101 @121l 1,471 1,815 N 344
04 JI2ZtH22XNHEE =+ 1,471 1,815 N 344
OMZELM & EHE A 40,4403 «3H x 12! 1,456
O¢dtMEE = 1,456,000& * 1% 15
201 et A | 13,236 9,350 3,886
01 AFR2 22l Yl 9,750 6,350 3,400
Oget+=gH| 9,750
—SAJ|GHS 222 M=E
2,000 *9002 x2& 3,600
~EXNRANALHY B4 HE
55,000& x50 2,750
—J|go & AL AIHHE 100, 000& *4Y 400
—ENUSX Sz 24(H4|)
1,500,000 *2H A 3,000
02 35244l 486 0 486
OMZEINY QtUZE & RBEZ
2703 x9000H 0| & *23] 486
03 HALS H b 3,000 3,000 0
OFXNRIINY NA(EZ) 200,000& =153 3,000
202 04| 4,500 4,500 0
01 2LHOHI 4,500 4,500 0
OEXN&EX JIgXd 89 & =X
60,0003 »3H 25 4,500
301 dEtE A= 8,000 8,000 0
09 HAIAH EA=S 8,000 8,000 0
O U EXI HAHEZ)
500,000& *163l 8,000
306 EH= 116,500 116,500 0
01 &9 = 116,500 116,500 0
OsAJgs4dl2 116,500
307 QI2t0| ™ 600,000 100,000 500,000
08 OIXtEXNZ 600,000 100,000 500,000
Ogsdsit=a 0l EA 30,000,000,000& *2% 600,000
308 AXISHXMSOIH 24,000 0 24,000
05 MHXSHN2AESZ2 24,000 0 24,000
OXNYESNY FHALY 24,000
401 AIEHIL 20 75,000 60,000 15,000
01 A& HI 75,000 60,000 15,000
OQMHEX Al 22 S X 10,000
O&tEt FHOIS 83 A 65,000
— == &2 HHI 2 AHL=100m) 20,000

- 239 -




2AM: EXrs X
st

g g Edst

CHRl: JIg XL (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
— CHOFAMEE stBFAE RIQI 2 T &2 AF(L=200m) 15,000
— & 212 Aptsor2 A2 AF(L=1,000m) 30,000
402 IV X201 M 200,000 0 200,000
01 QI2tXE8 X 200,000 0 200,000
oO&IIea B8X3 100,000
OJIUXN (22,5 L T2, MEIHA
=) 100,000
HliHed ey 3,600 3,600 0
201 et 3,600 3,600 0
01 AP 2t 2] d| 2,400 2,400 0
QHIdYE 2HH(AZE, MEE2ES)
200,000 x12& 2,400
02 B32%H| 1,200 1,200 0
O&Ilg, sdlg s 100,000& x12& 1,200
EXNRANESE =N 494,800 676,200 A 181,400
ENSXNESHE S 494,800 676,200 A 181,400
EXNSXAS 494,800 676,200 A 181,400
201 et 53,200 53,200 0
01 AP 2t 2] H| 38,200 38,200 0
Ogt42H| 31,000
—EXN8X EE2 2288 5) 10,000
ENgX 282 PPT & HA&a= MHE 5,000
—EXNSX S22 M 5,000& *1,0008 5,000
—EXsX g8 2450 ME
22,0002 *3,0008 6,000
—GZorMst E2450 HE
2,0002 =1,0008 2,000
- GBEYSBHG BRA0 HE
2,0002 =1,0008 2,000
—0ls8 EXNRX ST M
200,000 x5 1,000
OF ¢ IYNXNSHMEE S|
7,000 x4 x50 1,400
O3 0l8IIY EXNRIEES S|
7,0009 x4 x100 2,800
OJIgdE8 o2 3,000
03 HAI2 G H| 15,000 15,000 0
ENSX dHI 15,000
202 04| 9,600 9,600 0
01 2L Hl 9,600 9,600 0
O3 0l&8IIY EXNGX &=
60,000 x2H 20! 2,400
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fAd: EXFX
HE: NN TY
S MY ¥ 53X =4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 2324l 28,480 111,500 A 83,020
OUotas 8012 12,000
— CHOt&HEE D2 S, JIEt 1,000,000& »12& 12,000
Osgss &l 4,800
— 3853, JII2S, JIEt 250,000 =128 3,000
—S8E=s3 HWEAd 150, 000& =12 1,800
OUoatet, s8s3 |=XA =4 FH A= 7,040
— M5 <2(0.2m32) 440,000 »1CH*8L 3,520
—EIZE (158 JI&E) 440,000 ~1CH+B8L 3,520
OUiotatet, S8 =3 =2 =4 Uz 2,640
— W5 2(0.2m32) 440,000 »1CH*3 1,320
— HIZEZ(15&E JIF) 440,000 1013 1,320
O Uit MAE=2 IS dMIlE
200,000& 10& 2,000
202 oddl 2,640 2,640 0
01 = LH o4 1l 2,640 2,640 0
O ¢MgeX 2492 =& 60,0003 3«8 1,440
O G 23 SARHHRE
60,0003 «2H 10 1,200
307 21201 A 131,200 0 131,200
05 RIZt2IEt = 131,200 0 131,200
O Hot&HE Ha+Xeld S22
16,400,000& »8& 131,200
401 AIEHI L 201 72,500 50,000 22,500
01 A& HI 72,500 50,000 22,500
O ottt F=H0t2 &2 &l 50,000
O CHOHAHEE HIE 2 AIE I 15,000
O S8JeHIaEX HEL2EAIE Hl 7,500
CHOotAtH S X S8+ XA 2,126,000 3,125,000 999,000
& 2,126,000
401 AIEHI L 20 2,126,000 3,125,000 999,000
& 2,126,000
01 A& Hl 1,968,900 3,066,720 A 1,097,820
OMOHAtE BHE+=E A ALY 1,968,900
& 1,968,900
02 2feldl 150,000 50,000 100,000
OUOtatE BHE+=E AX ALY 150,000
& 150,000
03 Al 20 HI 7,100 8,280 A 1,180
OUDHAtE SHE=T EXIALS 7,100
& 7,100
A Ha=BBLXMelAE XA 6,925,000 500,000 6,425,000
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fAM: EXNFXID
M MACRIEY
S MY Y STEX X4 (B9 ®R)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 6,925,000
401 A& HIZ 201 8] 6,925,000 500,000 6,425,000
= 6,925,000
01 A& HI 6,861,474 452,800 6,408,674
OZAMHAZELY ™MelAld XA 6,861,474
= 6,861,474
02 Zeltl 48,691 45,000 3,691
OZAMH=ZY MelAld XA 48,691
= 48,691
03 A& =2 THHI 14,835 2,200 12,635
OZAMHAZEEY MelAld dXAg 14,835
= 14,835
MY =4 3,801,050 20,550 3,780,500
PSS Fageel 3,801,050 20,550 3,780,500
S AH KA 3,801,050 20,550 3,780,500
201 Let2d] 15,050 14,550 500
01 At 22l 8,050 9,550 A 1,500
Oget=&H| 8,050
—e-ZHClE SHAH FSAY JR=E 2
AN et 2,000
— AT AR SRF=E I &2t
50,000& »23| 1,500
— AT FFES2AY MF ML g2t
20,000& 1508 3,000
— MY HR FH MRES 7Y 500
—e-RHCE SdAH MY FRFL =
| 7,000 «2H x752 1,050
03 & Ar2 I 7,000 5,000 2,000
Oe-ZEclEl & AMHHUUX st HA 5,000
Oe-2dC|El EHAH FSAMY 2d EX 4
Hal HE S 2,000
202 04l 6,000 6,000 0
01 = LH 4 Hi 6,000 6,000 0
Oe-ZYClEl SHAH FSAY E2R2FA
60,0003 «2H x25 3,000
OZHLH Test-Bed 2&H FRFX
60,0003 «2H x25& 3,000
207 Ao 180,000 0 180,000
01 A3l 180,000 0 180,000
OICTII8 =2Xg 2YUelE JlsdlE 25 232
s o 180,000
401 AIEHI L 201 3,500,000 0 3,500,000
01 A& HI 3,500,000 0 3,500,000
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SN SNSRI D
Ha: sy
ol Merare

SA - FE - BI(EA) - NRAY - By 0l b SSa DS

Oe-2gclEl XIJAHME FX01 bl 3,000,000
Oe-Z2LClEl XJHEH HE 500,000

403 MtXSHHS =0l & 100,000 0 100,000

02 S| 2 S0l CHSHCH & A B 100,000 0 100,000
OZdZ M AHEgEAY 22L3(201443) 100,000

SIS I &Y 2,099,045 2,466,954 A 367,909
= 1,150,000
a 949,045

dIIsx 24 2,099,045 2,466,954 A 367,909
= 1,150,000
a 949,045

HITsA ES2(EX) 1,782,500 1,642,000 140,500
= 1,150,000
i 632,500

402 212t A= 01 & 960,000 0 960,000
= 600,000
s 360,000

01 RIZEAt2E X 960,000 0 960,000
O&IIXSIAES A 960,000
= 600,000
= 360,000

403 A X EHHS =0l A 400,000 0 400,000
= 400,000

02 S| 2SO0l CHSHCH & Ar B 400,000 0 400,000
O&IIXSA SHelZe 2SAY 400,000
= 400,000

405 TtabFH S| 422,500 1,242,000 A 819,500
= 150,000
s 272,500

01 AL EZFH S 422,500 1,242,000 A 819,500
O&IIXSI BESAtY 422,500
= 150,000
[ia 272,500

ISR E=(XHA) 316,545 24,954 291,591

201 2ok Y| 41,545 24,954 16,591

01 At 2teltl 4,161 1,161 3,000
O MIIsI 8852 300,000 =10CH 3,000

OFIITNSA ST AEBHAUA =2

96,6903 1204 & 1,161

02 =224l 37,384 23,793 13,591
OIS EEE 6,800
— 05X 600,000 = 10CH 6,000
PSS FSI DN 400,000& =2CH 800
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2N EXAS I
M MIIX S A Y
A

G 8Os 4 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OUNZFMIXNSK SEAN L XEHSIEHH|
600,000 =10CH 6,000
OEI X=X A= KEA 1,490
— DEEI|XE 130, 000 = 10CH 1,300
— MEEIIX 95,000 «2CH 190
OFIXNSAH 2SANH sAE 2dUis L OlH
dEx ITAHl0lE22 565,000 x 1201 & 6,780
OFINKNESX AXINIBHH A SN2
237,600 x 1201 & 2,852
OFIXNSA SEAEA OIHURZ
30,000& x 1204 & 360
ONIIKNSK =) 2ESH(2Y) 22
7,700 «440| x 1201 & 4,066
OFIXSXH s&8A JIR2
80,000 x9I A x12)H & 8,640
O=2E22sd MIIX AlES2d 29 M2o N
ea2 33,000 x 1 Ax12)0 & 396
401 Al HI L £ 0HHI 275,000 0 275,000
01 Al& H| 275,000 0 275,000
OFIXNSAH B3 & ST 2SAY 275,000
—JHen X 1A 130,000
— =8 2 B2 4dxl 24 145,000
MEES(EXNSX D) 80,942 72,108 8,834
LHEAHeH X = 80,942 72,108 8,834
SEY3H &2 80,942 72,108 8,834
701 JIEIS| HE =2 80,942 72,108 8,834
01 JIEIS HE =2 80,942 72,108 8,834
sSSP THAY 80,942
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